
Wk Ser

B.Com. DEGREE EXAMINATION — 
JUNE, 2009.

Second Year

(AY 2003-04 and CY 2004 batches only)

BUSINESS STATISTICS AND OPERATIONS 
RESEARCH

Time : 3 hours Maximum marks : 75

SECTION A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. What  are  the  general  rules  to  be  followed  in 
tabulation?

AmhÁø n° k®÷£õx  ¤ß £ØÓ  ÷Ás ī  ö £õx  Â vPÒ 

¯õø Á?

2. What are the sources of Primary Data?

•uÀ {ø »° ß  B uõµ[PÒ ¯õø Á?

3. Explain the components of Time Series.
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Põ»® \õº ö uõhºÁ›ø \° ß  EmT ÖPø Í Â ÍUSP.

4. Calculate mean from the following data :

x : 0-10 10-20 20-30 30-40 40-50
f : 6 5 8 15 7

R÷Ç  ö PõkUP¨ £mkÒÍ  ¦ÒÎ  Â Áµ[PÐ US  \µõ\›ø ¯ 

Ps k¤i : 

x : 0-10 10-20 20-30 30-40 40-50
f : 6 5 8 15 7

5. Calculate standard deviation from the following data 
:

x : 10 20 30 40 50 60
f : 8 12 20 10 7 3

R÷Ç  ö PõkUP¨ £mkÒÍ  ¦ÒÎ  Â Áµ[PÐ US  vmh 

Â »UPzø u PnUQkP : 

x : 10 20 30 40 50 60
f : 8 12 20 10 7 3

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. Calculate Mean, Median and Mode for the following 
data :
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5000, 10000,   25000,  15000,  18000,   2000,  5000

¤ß Á¸® ¦ÒÎ  Â Áµ[PÎ ß  \µõ\›, C ø h{ø »  ©ØÖ® 

•Pk B Q¯ÁØø ÓU PnUQkP : 

5 000, 10000,   25 000,  15 000,  18000,   2000,  5 000

7. From  the  following  data  calculate  rank  
correlation :

x : 48 33 40 9 16 16 65 24 16 57
y : 13 13 24 6 15 4 20 9 6 19

R÷Ç  ö PõkUP¨ £mkÒÍ  ¦ÒÎ  Â Áµ[PÐ US  uµ  Á›ø \ 

JmkÓø Á Ps k¤i : 

x : 48 33 40 9 16 16 65 24 16 57
y : 13 13 24 6 15 4 20 9 6 19

8. Fit a straight line trend by least square method to 
the following data :
Year : 1975 1976 1977 1978 1979 1980 1981
Production 
(in “000” units) :

6 8 9 10 12 11 8

R÷Ç ö PõkUP¨ £mkÒÍ ¦ÒÎ  Â Áµ[PÐ US Sø Ó¢u \µõ\› 

ÁºUP •ø Ó° À ÷£õUS ÷Põmø h Áø µP : 

B s k : 1975 1976 1977 1978 1979 1980 1981
EØ£zv 

( ‘‘000’’ À  A»S)  : 

6 8 9 10 12 11 8

9. Find the  y on  x from the following data and also  
x on y :
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x y
Mean x
 :

30 500

SD σ  : 5 100
γ 0.8

R÷Ç  ö PõkUP¨ £mkÒÍ  Â Áµ[PÐ US  

x-ß  «x  y-² ® y-° ß  «x  x-® PnUQkP.

x y
Mean x
 :

30 500

SD σ  : 5 100
γ 0.8

10. Calculate  Laspeyre’s-Paasche’s  and  Fishers  Index 
number :

Item 1998 1998
Qty. Price Qty. Price

A 6 40 7 30
B 4 45 5 50
C 1 90 2 40

ö »ì¤¯º ©ØÖ® £õìPÀ ©ØÖ® ¤\›ß  SÔ±mk Gs ø n 
Ps k¤i : 

Áø PPÒ 1998 1998
AÍÄ Â ø » AÍÄ Â ø »

A 6 40 7 30
B 4 45 5 50
C 1 90 2 40
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11. Solve the following assignment problem :
I II III IV

A 8 26 17 11
B 13 28 4 26
C 38 19 18 15
D 19 26 24 10

RÌUPs h ö uõSvUPõP AvP©õÚ Jx USuø » Ps k¤i : 

I II III IV
A 8 26 17 11
B 13 28 4 26
C 38 19 18 15
D 19 26 24 10

12. A ball is drawn at random from a box containing  
6 red balls, 4 white balls and 5 blue balls. Determine the 
probability that it is
(a) Red
(b) Blue
(c) White.
J̧  ö £mi° À 6  ]P¨ ¦ £¢x PÒ, 4 ö ÁÒø Í £¢x PÒ ©ØÓ® 
5  }»  £¢x PÎ ¼¸¢x  \©Áõ´¨ ¤ß £i J̧  £¢x  ÷uº
¢ö ukUP¨ £kQÓx .

( A) ]P¨ ¦

( B ) }»®

( C ) ö ÁÒø Í {PÌuPÄ Pø Íz wº©õÚ® ö \´.
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